ART. 6004 - ALUMINIUM FOOTBALL GOALS 900X600 MM. SECTION 80 X 80 MM. PORTABLE, WITH NET

PRODUCT DESCRIPTION MAINTENANCE
Portable Aluminium football goal 900x600 Once a year, control that all the fixings are well
mm. realized with aluminium profile section closed.
80x80. To make the football goal even more e Once a year control the condition of net's
fixed and hardy, angles are welded and net fastens, eventually provide to the replacement.
supports are rr:?de n tht galv?.nl.zed_ stelel. _ e Once a year control the football goal condition.
Equped with fastens for net fixing in plastic e |n case of structural failures or deformations,
material. o
breaks or anomalies in general, contact
WARNINGS immediately the installer or the dealer.
* Before starting the assembly or use the LIST OF COMPONENTS (set football goals)
system, read carefully instructions and verify n. 2 post-crossbar structure
the presence of all the components. n. 8 support reinforcement
e This system has been designed exclusively for n. 4net supports
football not for others uses; n. 2 supports tie - bars
n. 4 caps 80x80mm posts goal
e Football goals has to be always insured P P &
. . n. 20 net anchors
against overturning;
n. 2nets
e Periodically control general condition and n. 16 bands L= 250 for the net
safety of the system; n. 8 screws M8x20 r.h
e Do not climb on the football goal structure n. 20 washers diam. 8mm
and net; n. 8 bllnd nuts M8
n. 8 nuts M8
- n. 12 screws M8x40 cylindrical head
e
= ALUMINIUM FOOTBALL GOALS 900X600 MM. SECTION 80 X 80 MM.

VIVISPORT ...

attrezzature sportive

Tolleranza su quotazioni pari a +1 -0 mm. | Aggiornamento

Controllo qualita ogni 50 pezzi. n

Pagina:1/2

°

Questo disegno & di proprietd della Vivisport S, E' vietata la riproduzione tofale o parziale senza autorizazione




“ /Net support For assembly operations

Mount the supports for gables using M8x40
pan head screws

Screw
M8x40

cross bar Insert the M8x40 screws with cylindrical
head in the gable blocking the crosspiece
Net support

Screw M8x40
Washer

Insert the M8x20 oval-head screws in the
slits of the door;

‘ Net Fit the gables slat base supporting the
support d(_)or using the prefilled M8 screws in the
slits
©
Screw M8x20
S Put the hooks slat base supporting the
AN osts and crossbars, mount the network
/ N : p
Net g
anchors /
~—Buts
=
Net support ;
Bar o
=
== ALUMINIUM FOOTBALL GOALS 900X600 MM. SECTION 80 X 80 MM.

v I v I S PO RT Art 6004 Tolleranza su quotazioni pari a +1 -0 mm. | Aggiornamento Pagina2/2

attrezzature sportive Contfrollo qualita ogni 50 pezzi. n°

Questo disegno & di proprietd della Vivisport S, E' vietata la riproduzione tofale o parziale senza autorizazione



